
Dl 
. II . 4V 

II - = 2, what b tht> value of - ? 
b n 

A) 0 ~ ~ 
~.L) -:-

II) 1 b I .:2-
Q) 2 b 2.. 

D) 4 - :: 
~ z 

3x+4y --23 

2)' - X = - 19 

What is the solution (x.y) to the system of equatio ns 

above? 

A) (-5,- 2) 

~(J, -R) 
C) l·l, - 6) 

D) (9, 6) 

m 

~)l-t~~ 'C- a-o 
.. "X -tl#lJ = -?> 8 

~x+lly., ~t 
0~~-d~( 

~)C ~ 15 
~ .. ;, 

(3,--a) 

g(x) = 1/Xl + 24 

~ (;~) •41(=-;l3 : 
3(~) ' 
"1-+~-~1; -., _., ; 

'-1~ -=-- 'r : 

!j= fl 

For the function g defined above, 11 is a constant 
ami g(4) = !l. What is the value of g(-<1) ? 

i:(llb-\-?-4 
-1-.-Y • 1-11 

B) 0 

C) - 1 
- l b-: (A.//o ---

()) - H 
o. ... - I 

Urlcluthorfzed «.opymq or rt!u\e o( .my pout of tht) pay~ l.;.tllt•qdl. 

3 

= -lc lu)..-2-'r 

=-Jb•z.r 

'='8 

37 

/1 = 2.35 + 0.25x (_ '6) 

c = 1.75 + 0.·10x (~) 
In the equation~ abol'e, b and c represent the price 
per pound, in dollars. of bccfand .:hickcn, 
rcspcctivdy, x wt·cks after Ju ly I dming last 
summer. What wa~ tht~ price P<'r pound of hc<'f whcn 
it was eq1wl to tht· price pcr pound of chi.:ken? 

A) 52.60 

B) $2.35 

~ $2.95 

~s:us 

1.'.)5 .... 2SJ~. :: 1·1-5 -t.'tx 
- I -7S -.a)~ -1."7-S - .i.SX 

. 110 .. . /:5,.x - -.}J 

4 =X 

Lr :: '3..:\,1:fo :Y, 'J.... 'S (X) 
,- ?. .~s -r I 

Jg ~~~ Nl~ 
inc in the xy-planc passes through the nrigin and 

I 
has a slope ot :;-. Which of the following points lies 

I 

on the lin.-? ~ -:::__!.. '/.. 
1 

A) (0. 7) 

($ (1. 7) ~0 ... 
C) (7, 7) 

0 } (1·1,2) Q:: ~ ( IY) j 
I 

a=tZ 1 

~~ mx-+b 
~~ ~x-;~ 

o::J-0 -1'\o 
I 

CONTINUE 
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< r!J ~ uo&>vQeJ ~ +: 01 

m 
If x > 3, which of the following is equivalent 

to 1 1 
-+­
x+2 x +3 

) 
2x + 5 

A ' x- + Sx+ 6 

~ x 2
+5x+li 
2x + 5 

C) 2x+ 5 

I 

X·-\3 .. X1>l ... 
X 'Z.-t e. )C--1 9-.x-t l1 

~ 9,x4~ ___ _...: 

gx 
If 3x- y = 12, what is the value of-;; ? 

~)(- l.i "" \1 2-C& 212 ~ 'J a3... ~..3~-'j -B) 4
4 

).· ~ ~ l.f ~ '1 ~ KA) 
C) g2 ,1. 

D) Tht' value cannot be determined from 12-
information given. 

UniJuthoriz,:d cop~m4 or H.' usc or ~u1y ptJtl of ttus p.1gc 1s illt~9al 

II ~7~+ ex+ 14 foe oil"" '"" of 

.\,and a+ b = 8, what are the two possible 

values ior c ? 

~ .3a nd 5 

B) 6 and 35 

'l. 
~'f.. """1-o...x ., ?..lox +1Y 

IS 

C) 10 and 2 1 

D)3 1and41 

( O.X-+~ }(bX -t 1) :: 

(tQ)(-l:l )( 3Xt '+) 

~~ 
%\~ 
g 

\ '0 -x 1 ~ ?.>n ~ -r ~ x-+ 1 ~ 
~ \~~t *l1\ Xi'\~ 

38 

(CAXt2)(bX -+1-) 
l3 )t. -\ 2.) ('5 X """1-) 

\~~1. t (}.\X -t 10X -t\4 

~ \Y:Jf.L +~l X -t 14 

()Y tJ\ 
? 

CONTINUE 
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< c!J ~ ut>t><9Qe3 ~ +: fJ 

lui '"'bought' l•ptup mmpllt" ;H' HO<e th>t ' ' "' I ~percent uiscount off its original price. The total 
amount she paid to the cashier was p dolhu·s, 
incl ud ing an 8 percent sales tax on the discounteu 
price. WhKh of the follnwlllg represents the uri~inal 
price of the compulcr in terms of p ? 

A) 0.8Sp 

_L p 
R) 0.1\H 

~ (0.1\)(l.OX)p 

p 
D) 

(O.X)( l.OS) 

'\ I 1· oS? ) 
\ ./ 

\ 

~ ( <zso)C \.6~) 
I .,.,.--;\· 

Unw.Hhonzt:d t.opymy N w usc of ~my pt.~rl of ttm pu4~ ts lllcqdl. 

14 

50 

111 
Dreams Recalled Juring One Week - -

None 1 to 4 5 or rnnr~ Total 

Group X 15 28 57 100 

Group Y 21 11 68 100 

Total 36 39 125 J 200 
/ 

The data in the tabk above were produced by a sleep 
researcher ~t udymg the number ot d reams people 
recall when asked to record 1 ·cams for one 
week. Group X consisted 100 peo • who 
obscrVt'd earlr bedtimes, anu ~ consisted of 
~~·ho observed later bedt imes. If a person 
isCti<'iSeilat randnrn from those who recalled 
at least I d ream, what is the probabi litr that the 
person belonged tn Group Y ? 

A) 
61! G-~y - 9Df 100 ~ 

G \.tu:~ ~ +- t -...::. 
79 

l lt1-i Bl 
100 

~79 
164 

D) 
164 

200 

CONTINUE 

41 
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< c!J ~ u ~ 6/<9Qt) ~ +: Q] 

Questions 22 and 23 refer to the following information. 

AnnuJI Budgets t'or Dilferent Program~ in Kansa~. 2007 to 2010 

-----··--· ---- ~ --·-------
Year ~ 

Pmgram -·---lr--· 2007 
l 200if' J 2009 rr 201 0) Q2'2 

373.904l 
' .../ ~06 Agricultu re/natural rcsources ~.708 485,807 

Education 2,164.607 2.4 13,9R4 2,27·1,51·1 3.001>.036 c F= 
General gt,wrnmcnt 14,347,325 12,554,845 10,392,107 14.7 16, 155 

Highway~ and tran~purtalilln 1,468.-1!12 1,665,636 1,539,4!10 1,773,1l93 

-- .......... 
f futnan Tl'\(\UTCC~ ( 4,tlt;I,O~ 

t- ~ 
4,099,067 4,61R,444 5,92 1.379 ~ ~ 

Public s.1fcty 263,·163 398,326 355,93<; 464 ,23.3 

' I he table .1bovc lists the an nual budget, in tho usands of dollars. for each ot six di fferent s t~te 
programs in f.:ansas from 2007 to 20 I 0. 

' h kh ol thdn owing b,~ '"""" be 
average rate nf change in the annual budget for 
agriculture/ natural rc,ourccs in Kansa~ t'n>rn 2008 to 
2010 ? 

~ SSO,OOO,OOO per yea r 

~65.000.000 per year 

C) S75,000,000 per year 

D) $ 130,000,000 per year 

Uni'u1thor1zed rorrying or rNJc;e nf ;.ny part of th1c; pa9<" '' lllroal 

4 

51 

Of the following, which program's ratio o f its 
2007 bud gel to its 20 I 0 budget is closest to the 
human n::snu r-:cs pmgram 's ratio of its 2007 budget 
to its 2010 budget? 

A) Agri.:ulture/natural re~uurccs 

~Education 
C) Highways and transpor tatio n 

D) Public safdy 

---------------- · ----------------

~ qwdvaiic '&A1 
Jwrt~ ~ ltt 

CONTINUE 
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< c!J ~ u .:::> t>~Qe5 ~ +: !J 

\Vhich of the following is <Ill equation of a ci rcl e in 

the .\)'-plane with center (0. 4) <llld a radius with 

endpoint l ~· 5) ? 

l 1 ~-g5----------~+-------~ 
X +(y - 4J- = -

9 
A) 

, 2 25 
! 

m -
Katarina is a bot;mist studying th e production of 
pea rs hy two types of pear trees. She no ticed tha t 
Type A trees produced 20 percent more pears 
than T}1'C B trees did. Based on Katarin .1's 
observation, if the Type A trees produced 144 pears, 
how many pears did tht' Type H trees prodn'e? 

A) 11 5 

Q!}t20 
C) 124 

D) 17J 

A 

1 x 

l- :AX..,._ll.f ~ .-----l. ~ I. -p.. 

J\"- l'J-<b 
B) 

C) 

x- + (y + 4) = -
9 

2 1 5 
X + ()' - 4t =-

3 
(x-h) , L ~-Ide:: f~ 

, , 3 
D) .C + (y+ 4t = -

5 

~id po110"( dl~r.i.. 
~ .. ~ ..... ~ 

~ ji"'LI.lOTpt>YO.f~ 

'(\-t"-{,~- ,.. 

~15tCVv'lu..,.~ JW./ \~"-

fl =- 4.91 2 
·I 251 

The equation above expresses the appruximalc 
height h. in meters, of a hall I seconds after it is 
launched ve rtically upward (rom the ground with an 
initial velocity of 25 meters per second. A ftcr 
approximately how many ~econds will the ball hit the 
ground? 

0 =- ~~H~ -t ~lOr 
0::: t(- t(q {- -t ;;l.S) 

A) 3.5 

B) 4.0 

Cl 4.5 

'® 5.0 t-
0= 

-a~ 

:. a~-= -t~9 t 
.... 4et ~ 

co.~ = t-

14 

0 

52 

~m,~~~~L"" 
Ten students each mark off a randomly sdectcd 
region of the field; each region is squan: and has side 
lengths cif I meier, ;lnd no two regions overl:lp. T he 
students count the earthworms contained m the soil 
loa depth of 5 centimeters beneath the ground's 
surface in each regiou. The re~ult~ are shown in the 
table below. 

Region Number of I R . I Number of e ton 
earthworms j g earthworms 

:\ 107 L F I HI 
B 1·17 I Ci ISO 

c 146 H 154 
J) 135 I 176 

E 149 J 166 

\Vhi..:h oi' the following is a reasonable 
approximation of the number of earthworms to a 
Jepth of 5 centimeters beneath the grounJ's surfa..:e 

in the entire field? t~tlfiJ -= l'ft/ 
~ 150 

B ) 1,500 

C) 15,000 

D) 150,000 

CONTINUE 
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Text Box
please look at example # 15: Coordinate Geometry, Circles.





If the system of inequalities y > 2x + I and 

I 
y > 2 x- I b graphed in the xy-plane above, whi<:h 

quadrant contains no solutions to the system? 

A) Quadrant I I 

B) Quadran t I ll 

~ Quad rant IV 

~There arc solutions in all four quadrants. 

~'"""' ;"' ,,(.<), "" '""" "' p(3) ;, -2 ~1ich of the following must be true about p(x) 

A) x - 5 is a fn.:tn r of p(x) . 

> B) x-2 isafa(turol p(x) . 

'? (fJ x + 2 b a factor of p(x). 

> D) The remainder when p(x) 1s divided 

by x-3 is - 2. 

reo) = - d.. 

\1=-" 
x.,---?.. 

c+iY 

llnauthoriTed cop;1n!) or reuSt" of ""Y p.1rt or thl!l P.'9E" Is Illegal 

4 

53 

20 

IS 

10 · 

5 
-----!--f----' -1---1-:-+--r--+--+--+-t-
- 5 - 4 - 3 - 2 - I 0 I 2 J 4 

-s ·· 
10 

" 
v\'hich of the fo llowing is an eqUivalent follll oft he 
equation nf the graph shmvn in tht: xy-plane above, 
from which the .:oordinatcs of vat ex A can be 
id<! ntitlt:d as constants in the equation? 

A) y = (x + J)(x- 5) 

B) y = ~-- )(:a 5) 

~y= .. 2-15 

D)y=(-1)-16 ......__,. 

)I' - X -t- 1 --7 b 

~z -ix -)~ 
( $~l N r __it1; 

~Uo:dJf0-h'c rs ·~ I 

&t7 ~~ I 

CONTINUE 

v' 
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~ss~ friend Tyshaun found an account that earns 
2.5 percent interest co1npounded annually. Tyshaun 
Ina de an initial deposit of $100 into this account at 
the sa1ne tin1e Jessica n1ade a deposit of $100 into her 
account. After 10 years, how much more 1noney will 
Tyshaun's initial deposit have earned than Jessica's 
initial deposit? (Round your answer to the nearest 
cent and ignore the dollar sign when gridding your 
response.) 

~ . -1 ________ _ 

)DO(\.Od-) 1\) l0b(J.O'lc;,l1l 

\'L\, ~ t)'l~tt ~ 1 I 'lt. coM 

STOP (q. o~ 
,u may check you 1s section only. 

to any other section. 




